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Total No. of Questions—8] ;\w...ﬁ,éeon& No. of Printed Pages—3 3. (a) Write a pseudo C/C++ co mo delete intermediate node from

Seat o , singly linked list. u, v [3]
No. e ﬁmmmwu_ummw (b) Explain Qmﬁm JEmm tnw& list ,Snr example. i [3]
{ (o) [6]
S.E. (Computer m_ mwumwﬁsmv (I Semester) EXAMINATION, 2017
A ‘HwGOeCme AND ALGORITHMS R
; 4, (a) > recursion ? Explain use of stack for recursion. [4]

..;.,u,

~ (D) mAENE ﬂrm,“ stepwise conversion using stack for the given infix

. (20156 PATTERN)
Time : Two .,mommm‘,. Maximum Marks : 50
NB. — (i -Attempt Q1 or Q2, Q3 or Q4, Q5 or Q6 and Q7 or Q8. -

C.NM., * Neat diagrams must be drawn ﬁvmn%\mw_ necessary.

: ; ay e D SS pseudo C/ C++ code to nm?.mmmun mEmJN linked list as
“(i1) Assume suitable data, if necessary:

1: (a) Define and explain the follow (31 | an ADT. ?Mf , [6]
(a) Data structure 5 (a) Define the following terms;; wr /,,NmBEm : (61
(b ADT (a) Dequeue
(c)  Algorithm ; (b)  Priority queue
(b). Give pseudo C/ C#w oomm\ to concatenate two strings. [3] ‘ (9  Linear nsmc

(b) Write a pseudo/C O+ «code to implement circular queue using

A
i’

(¢) Explain the Qnmﬁ@% mﬁﬂmgm% with suitable example. Comment
6]

on its time 833@5&%.

2. (a) Define and mx.@w&b the following terms [4] 8 (2

(a) Linear data structure

(b) Non-linear data structure (b)

(7]
(6]

(¢) Time complexity

(d) mmwom 8519&@. | 1 (g

(6]
B0, [6252]-563

suitable example.
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